@D,

HaTar co3gaH oceBbiM CMeLLeHNEM BUTKOB pe3b0bl B raike

Ha 3aflaHHy0 BENNUYMHY A.

Preload is made by axial displacment of nut turns by A value.

d,, P, i* L,, |Dg6,| I, D, | D, | d, | L, L, a;raueu B, 1, \'A I, h, C, C,
mm | mm mm | mm || mm | mm | mm | mm | mm | mm | "% mm | mm | mm | mm | mm | kN | kN
16 5 2+2 | 55 |28g6| 10 48 38 | 55 | 40 44 A 10 5 M6 | 5,5 1 6,7 | 7,2
20 5 3+3 | 68,5 3696 | 10 58 47 | 6,6 | 44 51 A 10 5 M6 | 5,5 1 12 16
25 5 3+3 | 69,5 |40g6| 10 62 51 6,6 | 48 55 A 10 5 M6 6 1 13 20
25 10 | 2+2 | 83,5 |40g6| 16 62 51 6,6 | 48 55 A 10 5 M6 6 1 10 14
32 5 | 4+4 | 83 |50g6| 10 80 65 9 62 71 A 12 6 M6 6 1 19 36
32 10 | 3+3 [105,5| 5096 | 16 80 65 9 62 71 A 12 6 M6 6 2 26 39
40 5 5+5 | 97 |63g6| 10 93 78 9 70 |815| B 14 7 |M8x1| 7 1 26 59
40 10 | 444 | 142 | 6396 | 16 93 78 9 70 | 81,5 | B 14 7 |M8x1| 7 2 54 93
50 5 5+5 | 103 [ 75g6| 10 | 110 | 93 11 85 |975| B 16 8 |[M8x1| 7 1 27 77
50 10 | 3+3 |120,5|75g6| 16 | 110 | 93 11 85 |975| B 16 8 |M8x1| 7 2 54 | 107
50 10 | 4+4 | 144 | 7596 | 16 | 110 | 93 11 85 |975| B 16 8 |[M8x1| 7 2 69 | 142
50 10 | 545 | 172 | 75g6| 16 | 110 | 93 1" 85 |975| B 16 8 |M8x1| 7 2 84 | 178
63 10 | 5+5 | 166 |90g6| 16 | 125 | 108 | 11 95 | 110 B 18 9 |[M8x1| 7 2 94 | 230
80 10 | 646 | 192 |105¢g6| 16 | 145 | 125 | 13,5 | 110 |127,5| B 20 10 |M8x1| 9 2 115 | 363
80 20 | 3+3 | 219 |125g6| 25 | 165 | 145 | 13,5 | 130 |147,5| B 25 [ 12,5 |M8x1| 9 4 133 | 298

*I — yncno paboumx KOHTYPOB Tranku.

LUBM gpyrvix TUNopasmMepoB, Harpy304Hoi CrOCOGHOCTM U3roTaBIMBAIOTCA MO CrneuuanbHOMY 3aKasy. MpucoeauHUTENbHbIE pa3Mepsbl

a
Q

Ls

raek cootseTcTBytoT DIN 69051/5. B03MOXKHO M3roToB/ieHMe (OpMbI thiaHLa 1 pacrnosioXXeHne KpenexXHbIX 0TBEPCTUIA No cneyuaibHOMy
3aKazsy.

*I — nut working contour quantity.

Custom size and load ball screws are available upon request. Nut interfaces conform to DIN 69051/5.
Screws with custom shape flange and fixing hole location are available upon request.



